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KB 5,250, 000 5. 674, 100 -424, 100
Sl 1,664, 793 1,723, 206 -58, 413
EEREMIEING 43,713, 639 46,021,322 -2, 307, 683
ZrRENE 235,120, 722 167,907, 499 67,213,223
I EESINEA 276, 600 123, 350 153, 250
I | TERMRB RN 48,170, 400 48,790, 378 -619,978
PSSR B RING 5,708, 003 5. 418 577 289, 426
" PEEfRAY —ERES NG 239, 686, 934 249, 812, 393 -10, 125, 459
| ZOMOUREE 4,701,030 1,157, 000 3,544,030
g Y-ERESUNZESET (1) 584,292, 121 526, 627, 825 57, 664, 296
Z ANFE 418, 613, 461 375,019, 915 43,593, 546
g B 32, 505, 415 30924100 1,581,315
128 ES 83, 942, 449 79, 451,278 4,491,171
b HESERDEEHEE 5,507, 415 7,032, 332 -1,524,917
% BEER 4,243,472 4,332, 624 -89, 152
| o |amenmm 62,200 51. 200 11,000
M | BEE&EA%E 20, 000, 485 35, 000, 485 -15, 000, 000
IR EEER 5, 760, 803 5,447, 712 313, 091
IRATHERNE 5,721,371 5,113, 482 607, 889
EE MBS SR S EEER -2, 954, 253 -2.781,914 -172, 339
ZOMMOER 126, 670 166, 200 -39, 530
Y-EXESERT (2) 573, 529, 488 539, 757, 414 33,712,074
Y-EXEENERELE (3) = (1) - (2) 10, 762, 633 -13,129, 589 23,892, 222
¢ SR SR RN 1,755 1,492 263
2 | R |zomoy - zmamstmas 839, 762 372, 549 467,213
| R ER s RsET (4) 841,517 374, 041 467, 476
fﬁ & | Ty -EXEEISNER 10, 264, 200 6,217, 600 4,046, 600
jz | A (D-CRFEEMERET (5) 10, 264, 200 6,217, 600 4,046, 600
|-t 2 EBMEHELE (6) = (4) — (5) -9, 422, 683 -5, 843, 559 -3,579, 124
BEERELE (7) = (3) + (6) 1,339, 950 -18,973, 148 20, 313, 098
MR E RSB RN 3,591, 500 0 3,591, 500
SRS T SN 0 0 0
L2 g EEEEZIERR 3,171,200 242, 887 2,928,313
B | EEamEssia 20, 000 247,510 -227,510
ji FrRIUNERET (8) 6, 782, 700 490, 397 6,292, 303
o EEEREFTAIE 318 3 1
g i EEHBE SRR SRR 3,591, 500 3,591, 500
$FRIERAET (9) 3,591,503 3,591, 501
HERIZHESE (10) = (8) — (9) 3,191,197 490, 395 2,700, 802
UHBEEMEREEE (11) = (7) + (10) 4,531,147 -18, 482, 753 23,013,900
* | BIEREENERERE (12) 95, 266, 000 98, 748, 753 -3, 482,753
;E LHRIREUEENISRAERE (13) = (11) + (12) 99, 797,147 80, 266, 000 19,531, 147
& (EOREREEEE (14) 0 0 0
*;"f; EEEE (15) 15, 000, 000 15,000,000 0
= [ZOMOBET2E (16) ) m 0
if ZOMOETRIEE (1 7) 0 0 0
ap [ REFBBUEEMEALE (18) = (13) + (14) + (15) + (16) — (17] 114,797,147 95, 266, 000 19, 531, 147
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